91.000.3.0039

51.000.4.0033

N4 vicE Maxts H8.003.3.0404
51.000.4.0032

58.010.3.0009 N2 auTor. 3.5¢

51.000.3.1274

51.000.3.1278

51.000.3.1240

66.000.3.0090 #3501
66.000.3.0098 115/601c

115V=60Hz KIT NUOVO \NT‘l 5299940238'

230V-50Hz KIT NUOVO \NT.l 52.999.4.0236)

01.000.3.1273

51.000.3.0055
N'4 DADI M3 AUTOBLOK. 58.019.3.3003

52.999.4.0244 p30v 50kz
52.999.4.0245 15V 601z

o— 01.000.5.0407
51.000.3.0412

N4 vTsic M3x2s D8.005.3.0304

51.000.3.1139

51.000.4.0031

27.000.3.0001 115-220v /60Hz 51.000.3.0038

51.000.3.0468 230-240v/50Hz g, 58.003.0607
N2 VTCEl MBX30

52.999.4.0506 230v /5047 -J o a1\

52.999.4.0507 115v/60Hz ~ @ . 51.000.3.1121

52.999.4.0508 240v/50H: ~. =

52.999.4.0509 220 co11 S 21.000.3.0620

58.032.3.0001 58.022.3.0002

N2 RONDELLA A5

58.022.3.3002 N2 ROSETTA DENTELLATA A5 |

230V/50Hz 52.999.4.0225
115v/604z  52.999.4.0226
240v/50Hz 92.999.4.0227
220V/60Hz 52.999.4.0228

58.003.5.0508 N2 vrce M5x60

N2 RIVETT A sTRaPPO 51.000.3.0620

25.000.4.0001 51.000.3.1238

58.022.3.2003 N4 ROSETTA DENTELLATA A6 |

E

1

\

\

\

\

\

\

$ Il

E o
58.003.3.0610 N4 vicE MBx60 E

= KU N ZI_E & TAS' N EDGER FOR WOODEN FLOOR —PAGE
&@ Via Canzio 10 * 20131 MILANO VEGA 1/5
Tel.02/29516808—-29522067 FAX 02/2047695 FEBBRAIO 2007




02.999.4.0225

22.999.4.0220

22.999.4.027/

02.999.4.02/8

230V 50Hz
115V 60z
240V 50Hz

220V 60Hz

6202-2RS 58.040.3.2006

230V 50Hz 52.999.4.0239
115v 60Hz 52.999.4.0240

240v 50Hz 52.999.4.0241
220V 60Hz 52.999.4.0242

6203—2RS 58.040.3.2010

RALTREDAMENTO ™ 51.000.4.0415

51.000.4.0417

UAcouN 04.000.4.0418

51.000.3.0045

51.000.3.0046

@ KUNZLE & TASIN
& )) Via Canzio 10 * 20131 MILANO
Tel.02/29516808—29522067 FAX 02/2047695

PAGE
2/5

EDGER FOR WOODEN FLOOR

VEGA

FEBBRAIO 2007




02.999.4.0575

58.003.3.0605
N4 VTCEl M6x22
%;g 51.000.4.0034
51.000.3.0001
58.022.3.2003

N4 ROSETTA DENTELLATA A6

D 51.000.5.0029

51.000.3.0083

25.000.5.0009
58.022.3.0004

RONDELLA D8

51.000.3.0013

25.000.5.0007/

152.999.4.0214

25.000.3.0005

58.000.5.0402

VTS A CROCE M4x12

25.999.4.0003]

08.006.3.0604

VTSEl M6x18

25.999.4.0007

58.005.3.0402

VTS A CROCE M4x12

52.999.4.0546GA

51.000.3.0050
58.007.3.0803  vie wees

—
B OMELTEN | e |

Tel.02/29516808-29522067 FAX 02/2047695 FEBBRAIO 2007




58.030.3.0003
00-ors 98.040.5.5002

20.999.4.0005

51.000.4.0048

vTsel Msxio 98.006.3.0501

25.000.5.0002

02.999.4.0252

% vIE Mex35  58.007.3.0805

02.999.4.0214

51.000.4.0051

51.000.5.1255

| 66.999.4.0012
51.000.3.1255
|
58.019.3.0010 0400 m10 ——152.999.4.0237|
KIT RICAMBI

58.022.5.0005 RosETTA M10

58.019.3.4002 pADO BASSO M1

52.999.4.0530

————————166.999.4.0012

58.006.3.1002 vrstl m1oxeo |

51.000.3.1131 | ‘ |

= KU N ZI_E & TAS' N EDGER FOR WOODEN FLOOR —LAGCE
Q@ Via Canzio 10 * 20131 MILANO VEGA 4/5
Tel.02/29516808-29522067 FAX 02/2047695 FEBBRAIO 2007




70 000 30078 77 000 3.0008] | 5100031191 200 s

230V 50Hz 240V 50Hz versione UK 51.000.3.1220 115V 60Hz
240V 50Hz

220V 60Hz

02.999.4.0580 29.000.3.0115

PPPPPPPPPPP
ZZZZZZZZ
240V 50Hz
220V 60Hz

0/.999.5.0019

PROLUNGA 10 MT 115V 60Hz

02.000.3.0299
51.000.3.1036

? 51.000.3.0148
51.000.3.0149

<

’Wh@

04.999.4.05/0

51.000.4.0463

@9 91.000.3.0472
I! 51.000.3.0144

;’\\ K U N ZI_E & TAS' N EDGER FOR WOODEN FLOOR EAGE
&T)) Via Canzio 10 * 20131 MILANO VEGA 5/5
Tel.02,/29516808- 29522067 FAX 02,/2047695 FEBBRAIO 2007






